3.5 Zadani ukolia k domacimu procviceni

F=41kN
3.5.1 _
) =39kN/m l ;E_SBkN
ANNNNY
4000 ,I,‘l OOO,L‘I OOO,L 1500
7500mm
3:.5.2 E=18kN
F.=25kN
fa =33kN/m T
/ ¢ ’{
AN 5
ZAN a2
2 | 25 pg 2 |1}
i 6m %

3.5.3
F=20kN F=28kN

L1l 3.3 107, 15 | 1.5 |F=60kN

b_2m | 5m 1 3m |
3.5.4 F=41kN FE=27kN F=20kN
=1okN/m L® |f —23KkN /m
AV JHIIN&HJLMMUJ]M%HUJW
&R —
1000 1800 | 2700 1500 |
5500mm
3.5.5
=62kN
= f=10kN /m F=25kN
= o—o0
M=39kNm\% !
F,=88kN
3.6 p509) 15 | 15
8m
550 F=42kN fi=50kN/m

£ =36KN /m / =37kN

A
. \ N
N FE=65k /F-:=39kN
1L 1571 1.2 1.8 pg |05
7.5m

302



E=20kN F=16kN

3.5.7
F.=84kN | fa=41kN/m
F=63kN, \ -
ikl G ~J} N
7/
7
000}1300 | 1700 | 1500
5500mm

3.5.8
F=15kN
g=30kN m
091, 1.4 1 1 L
y 2m
F=63kN
3.5.9
3.5.10 |:3=36\kN \F4=23%<§41KN m
=52kN/m
2l A
KIS
0,91,0,9 1 1
4 i 4.3m
F=40kN  F=20kN
F=18kN F=22kN
3.5.11

NN

3.5.12 =31kN/m __

£ =25kN /m

N

303
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